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Time : Three hours
The figures in the margin indicate full marks

for the questions.
Q. No. 1 carries 1 mark each 1x10 = 10
Q. No. 2 carries 5 marks each 5%x4 = 20
Q. No. 3 carries 6 marks 6x1 = 6
Q. No. 4 carries 2 marks each x4 = 8
Q. No. 5 carries 3 marks 3x1 = 3
Q. No. 6 carries 6 marks 6x1 = 6
Q. No. 7 carries 5 marks 5x] = 5
Q. No. 8 &9 carry 4 marks each Ueo L0itg
Q. No. 10, 11, & 12 carry 3 marks each 3%3 = 9
Q. No. 13 carries 2 marks each i
Q. No. 14 & 15 carry 1 mark each 1R = 7
Q. No. 16 carries 2 marks each D =i A
Q. No. 17 carries 10 marks 10x1 = 10
Total = 100
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1.  Answer each of the following questions by writing only the actual correct 0 H
_ ow many acts are there in the drama Nzeane
word : 1x10=10 R gRnandain.?
SR 2RI AT TeI (e A SR @ < B FNTH AOFS (FRO! BEF SN(Z 2
(1) Who is the hero of the canto XIII of the Raghuvamsam ? f
| (g) Who is the wife of JTmutavahana ?
QAT QA FACOIR FTE (I 2
GIATR G A 2
() How many cantos are there in the Raghuvamsam ?
‘FER © o] s SITR? ()  Who is known as ‘ Aehfa:’ ?
3 el 3 @m ok
(c) Write the name of the second chapter of the Gita.
‘Srors TS wgra w71 : ;
(i) Who is the writer of ‘Udrr™’ ?

(d) How many verses are there in the Srimadbhagavadgita ? ORI A7 @FF (i 2

AeesRvsTore 0! CAIF SR ?

(i)  Give the sanskrit equivalent of the word ‘S’ |
(e) Who is meant by ﬂ's’ﬁm"ﬂ: ?
TR, AR Skge afex &4 |
‘ST T IS @A 2




2 Translate four of the following taking one from each part :
5x4=20

O Ol e R G R o B o 7 st R I O AST S LA
Part I/ 22 Sie

(@) TRIfEFE: A 7
e oA G |
L CIECHIDHEE
S e afEtfsar = 11

(b) Tur v 79 fafa=ar =i

Part 11 / Taoia sl

(c) <fedisfer gon 3§ &MR AleH S

T EAIgETas 7 Hefd

d) i fo=fa wenf 5 <efa T@: |
q = Feleg=amdr 7 viuard wed: |l

28T SANS [4]

(e)

0

8

()
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Part III / 9O Sz

aefErraEEN Tee: fove: weement< ) i 9 axtemseeme:
JIg TErefEIfaq, FeUHiuafd YA e | Gotheh IS e
Ty aeferaeede JufgeErHid i

(TEH) B gk UeEgs | %Y sAuemH fehema & " ufeae: | (Taees

TEI) o JEasu fofearasrivfasfa e il

Part IV / 59d Sied

€ J UShaHd Fd: g4l WRdEn 9 et |
STHHTATIORET: 314 Toi Hehaia | Tk e A heel 9T ag Siaie RaaHT |

STHHIITHINET: TR S&hasd 9 FASH1EY |l
L < 2 !

TeIeE T e Hehadfveds iy Heeha- s s T fafemar |
qeh(qY SR EUSHE Uae add | Yaed: Hid: | AT
T Ufqeifs-seamiae s fafaaat i

[5] Contd.



o -

3. Explain with reference to the context any one of the following verses : () Name and expound the Samasas of ‘FHMY’ of Q. No. 2(b) and
1+1+4=6 "ém' in Q. No. 2(c). 1x2=5
O ARSIzt G5 e e iz i = | 2l R 2(b) © A TGHTY R 2 TR} 2(c) © 2 ST H{w woI

AFARTAZ AN A w72 |

(@) TFITEGrEEerd

Wﬂ: JHT o | (d) Write a short note on ‘ﬁ?fﬂ?lﬂ't['l 2
ST P TeaarTs: ‘Trenaey 1 [Jac syt @b Gree 4t
HEd i geurs R I

(b) WgEHET qEifd Ik 5. Elucidate the idea contained in any one of the following : S
SRIATG, AT & | oo e 9biT SR-STEERe w4 g
st yfeme w5

(a) aﬁmﬁwgﬁ%@aﬁﬁa‘ﬁém|
ferremeTETe 7 Hiveq wdasf

TR, e 93 1

(@) Account for the case ending in ‘T{:"in Q. No. 2(a) and ‘Ea"rfq\r
TP (b) &SI g wedrsd gaen

TEId B EH IR

in Q. No. 2(b).

ol e} 2(a) © AT TR SR 2l AN 2(b) © AP T sy
1 frefe fdm |

6.  Write after the gr?madbhagavadgi'té, chapter II, why Arjuna declined to

fight against the Kauravas ? &

(b)  Derive ‘Haifd' in Q. No. 2(c) and ‘f&=f<’ in Q. No. 2(d).  1x2=p

o AR 2(c) © oAl g’ o em TR 2(d) © A ‘o=’ #In Yo AR STy S Sepil g (FIed s 3 sRee & 2

Jie7ife fopelf | tafee @i
28T SANS [6] 28T SANS [7] Contd.
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Write short notes on : (any three)

2x3=6

SR o1l 3 (Rizaicar fofaby)
qref:, IR, AN, UTSE:, HETE:, ToAfTEETEE: ||

Give a beautiful description of an ocean as you find in the 13th canto of

the Raghuvaméam.

LRI T Q7 AN (AR 4_0et FASEE GF S qefr o |

Or/ g4

Describe the hermitage of Agastya.

w5y 4fEq S et w4 |

3T IS AEA | 7 Wode AR

Who is the speaker here ? Who is addressed as ‘3m’ ? Write, what the

speaker said. 1+1+2=4

3R @ @ 2 T o1 TS A 4 (20T 2 Teis F @ |

10.

11,

9. T e w @fy siafa Shaf |

T st St e TR 1
Who is the speaker here ? Whom did the speaker say this ? Under what

circumstance did the speaker comment this ? I+1+2=4

S & (i ? ISR BF G2 U e [ -1k e oz @ T SR

Write the names of sjx ‘AIIE s 12x6=3

"I RN A T

Write a note on the contribution of Anundoram Borooah or Krishna Kant

Handique to Sanskrit literature.

RS RSN STl <l o727 paseors iz e R afe Coret el |

12. Fill in the blanks : 1x3=3
2Tt 212 = 3= | |
" el g it | ‘l
i
form T g fl
28T SANS [9] Contd. |



13. Explain with examples any two of the following : 2%x2=4

w51 R fo SARAEE e il 4 |

STaE A, A, YEHTRISYEEY, WE SR, i wheg:

14. Choose the correct words for any three of the following :
1x3=3

@ [z fofnt wa oW Al SREred |
(@) The word ‘54’ is @It / FAI AT |
‘S e R/ SR |

) T edwre e /e

(¢ = ggufay / Iufasfa
(d) FAEH FfasH / S

() 3M+ Vg +99 is AR / A

15. Account for case-ending in any four of the following underlined words :
1x4=4

| e Rzl s1fast issal A [efe @ #4
(@) fougeisty wawt we Sge-ama |

(b) T T afmfa @

28T SANS [10]

16. Name and expound the Samasas in any two of the following :

(1+1)x2=4

ol [t g5 JERE (ee A9 A fordd ¢
HAfeTHer, <U=RH, TereH!:, TH-TLHI- T, TH-=ROM, FRIYS: |

17. . Write an essay on any one of the following in simple Sanskrit :

10
ol fqeelc @big Rt /e sicgoe o ol ¢

L W

(1) STIIYCYR Sdaedd:

(b) FRIGEY: FrA<ieRica:

(c) Heldgg: S&Iga:
(d) AF<IH &4l

(e) HRIHRAH |

28T SANS i |



